
Assembly Manual 
Freestanding Gas Grill with Side Burner,  
4 Burner

Guide de montage
Barbecue autonome au gaz avec brûleur 
latéral, 4 brûleurs

Manual de montaje
Barbacoa de gas autónoma con quemador 
lateral, 4 quemadores
B0B8QV3MS2   |   720-0804HE

EN  .  .  .  . Page� 2

FR  .  .  .  . Page� 28

ES  .  .  Página� 55

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   1PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   1 10/7/2022   12:16:40 PM10/7/2022   12:16:40 PM

roscoliz
V1



EN

2

Package Contents...................................................................................................................................................................................................... 3
Assembling the Grill.................................................................................................................................................................................................. 7
Feedback and Help..................................................................................................................................................................................................27

Contents

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   2PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   2 10/7/2022   12:16:40 PM10/7/2022   12:16:40 PM



EN

3

Package Contents

Parts

Part Name Image Quantity

1 Front left leg 1

2 Back left leg 1

3 Bottom left frame 
support 1

4 Front right leg 1

5 Back right leg 1

6 Bottom right frame 
support 1

7 Back frame support 1

8 Top left frame support 1

9 Top right frame support 1

10 Front panels 2

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   3PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   3 10/7/2022   12:16:41 PM10/7/2022   12:16:41 PM



EN

4

Part Name Image Quantity

11 Feet 2

12 Tank exclusion bar 1

13 Tank holder bar 1

14 Grill box 1

15 Left side shelf 1

16 Shelf brackets 2

17 Left shelf cover 1

18 Right sideburner shelf 1

19 Right shelf cover 1

20 Side burner 1

21 Grease tray 1

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   4PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   4 10/7/2022   12:16:42 PM10/7/2022   12:16:42 PM



EN

5

Part Name Image Quantity

22 Grease pan holder 1

23 Grease pan 1

24 AA battery 1

25 Sideburner control knob 1

26 Heat plates 4

27 Cooking grates 2

28 Wheels 2

29 Warming rack 1

30 Side burner grate 1

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   5PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   5 10/7/2022   12:16:43 PM10/7/2022   12:16:43 PM



EN

6

Hardware

Part Name Image Quantity

A 1/4-20x1/2” truss head 
screws 18

B 5/32-32x2/5” truss 
head screws 15

C 1/4” flat washers 6

D 5/16” flat washers 2

E 5/16” nuts 2

F 5/32” flat washer 2

Tools Needed

Philips screwdriver Adjustable wrench

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   6PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   6 10/7/2022   12:16:43 PM10/7/2022   12:16:43 PM



EN

7

Assembling the Grill
Step 1
1.	 Loosen the eight pre-installed screws on the front left leg (1), back left leg (2), front right leg (4), and back right leg (5).

2.	 Slide the keyhole slots in the bottom left frame support (3) onto the screws in the front left leg (1) and back left leg (2), 
then retighten the four screws.

3.	 Slide the keyhole slots in the bottom right frame support (6) onto the screws in the front right leg (4) and back right leg (5), 
then retighten the four screws.

Step 2
1.	 Loosen the four pre-installed screws on the left leg assembly and right leg assembly.

2.	 Connect the left leg assemby to the right leg assembly by sliding the keyhole slots in the back frame support (7) onto the 
screws you loosened. Make sure the screw holes along the edge of the back frame support are facing upward, then tighten 
the four screws.

    

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   7PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   7 10/7/2022   12:16:44 PM10/7/2022   12:16:44 PM



EN

8

Step 3
1/4-20x1/2” truss head screws (x8)

1.	 Secure the top left frame support (8) to the left legs with four 1/4-20x1/2” truss head screws (A). 

2.	 Secure the top right frame support (9) to the right legs with four 1/4-20x1/2” truss head screws (A). 

NOTICE  The top screw hole in each frame support will stay open.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   8PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   8 10/7/2022   12:16:44 PM10/7/2022   12:16:44 PM



EN

9

Step 4
1.	 Loosen the eight pre-installed screws on the left front leg (1) and right front leg (4).

2.	 Slide the two front panels (10) onto the screws on the front supports, then retighten the eight screws.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   9PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   9 10/7/2022   12:16:44 PM10/7/2022   12:16:44 PM



EN

10

Step 5
5/16” flat washers (x2) 5/16” nuts (x2)

Slide the wheels (28) onto the bottom of the right legs, insert a 5/16” flat washer (D) onto each end, then secure each wheel 
with a 5/16” nut (E). Tighten each nut with a wrench.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   10PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   10 10/7/2022   12:16:44 PM10/7/2022   12:16:44 PM



EN

11

Step 6
Push the feet (11) onto the bottom of the left legs. The feet should point outward toward the front and back of the grill.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   11PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   11 10/7/2022   12:16:44 PM10/7/2022   12:16:44 PM



EN

12

Step 7
5/32-32x2/5” truss head screw (x1)

1.	 Insert the end of the tank exclusion bar (12) into the hole on the top edge of the front panel. 

2.	 Align the other end of the tank exclusion bar with the hole in the back frame support, then secure with a 5/32-32x2/5” 
truss head screw (B).

Step 8
Insert the ends of the tank holder bar (13) into the holes on the inside of the right legs.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   12PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   12 10/7/2022   12:16:44 PM10/7/2022   12:16:44 PM



EN

13

Step 9
Remove the two screws at the front corners of the grill box (14). These screws secured the control panel during transport and 
won’t be used again.

Step 10
With a partner, lift the grill box (14) onto the supports.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   13PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   13 10/7/2022   12:16:45 PM10/7/2022   12:16:45 PM



EN

14

Step 11
1/4-20x1/2” truss head screws (x4)

Make sure that the grill box is fully seated, then secure the grill box (14) with four 1/4-20x1/2” truss head screws (A).

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   14PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   14 10/7/2022   12:16:45 PM10/7/2022   12:16:45 PM



EN

15

Step 12
5/32-32x2/5” truss head screws (x4)

1.	 Align a shelf bracket (16) with the left side shelf (15) and left shelf cover (17), then secure with two 5/32-32x2/5” truss 
head screws (B). Do not fully tighten.

2.	 Secure the edge of the left side shelf (15) and left shelf cover (17) with two more 5/32-32x2/5” truss head screws (B).

3.	 Fully tighten the screws.

Step 13
Loosen the two upper screws on the left side of the grill box, then slide the left shelf assembly onto the grill box. The grill box 
screws should fit into the shelf’s keyhole slots. 

LEFT SIDE

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   15PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   15 10/7/2022   12:16:45 PM10/7/2022   12:16:45 PM



EN

16

Step 14
1/4-20x1/2” truss head screws (x3) 1/4” flat washers (x3)

Secure the left shelf assembly with three 1/4” flat washers (C) and three 1/4-20x1/2” truss head screws (A).

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   16PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   16 10/7/2022   12:16:45 PM10/7/2022   12:16:45 PM



EN

17

Step 15
5/32-32x2/5” truss head screws (x2)

1.	 Make sure that the shelf assembly is fully seated in the keyhole slot, then retighten the screws you loosened in “Step 13” on 
page 15.

2.	 Secure the left shelf cover with two 5/32-32x2/5” truss head screws (B).

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   17PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   17 10/7/2022   12:16:46 PM10/7/2022   12:16:46 PM



EN

18

Step 16
5/32-32x2/5” truss head screws (x4)

1.	 Align a shelf bracket (16) with the right sideburner shelf (18) and right shelf cover (19), then secure with two 5/32-32x2/5” 
truss head screws (B). Do not fully tighten.

2.	 Secure the edge of the right sideburner shelf (18) and right shelf cover (19) with two more 5/32-32x2/5” truss head screws 
(B).

3.	 Fully tighten the screws.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   18PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   18 10/7/2022   12:16:46 PM10/7/2022   12:16:46 PM



EN

19

Step 17
Loosen the two upper screws on the right side of the grill box, then slide the right sideburner assembly (18) onto the grill box. 
The grill box screws should fit into the shelf’s keyhole slots.

Step 18
1/4-20x1/2” truss head screws (x3) 1/4” flat washers (x3)

Secure the right sideburner assembly (18) with three 1/4” flat washers (C) and three 1/4-20x1/2” truss head screws (A).

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   19PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   19 10/7/2022   12:16:46 PM10/7/2022   12:16:46 PM



EN

20

Step 19
5/32-32x2/5” truss head screws (x2)

1.	 Make sure that the sideburner assembly is fully seated in the keyhole slot, then retighten the screws you loosened in “Step 
17” on page 19.

2.	 Secure the right shelf cover with two 5/32-32x2/5” truss head screws (B).

Step 20
1.	 Loosen the two sideburner control screws. Do not remove the screws.

2.	 Place the sideburner valve into the hole of the right sideburner shelf cover, then slide it down to lock in place.

3.	 Retighten the two sideburner control screws.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   20PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   20 10/7/2022   12:16:47 PM10/7/2022   12:16:47 PM



EN

21

Step 21
Remove the two screws on the sideburner (20).

Step 22
Align the sideburner pipe with the nozzle behind the right sideburner cover, then secure the burner with the two screws you 
previously removed.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   21PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   21 10/7/2022   12:16:47 PM10/7/2022   12:16:47 PM



EN

22

Step 23
Unscrew the ignition button from the grill box.

Step 24
Insert the AA battery (24) with the + side facing out. Replace the nut, then screw the ignition button back on.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   22PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   22 10/7/2022   12:16:47 PM10/7/2022   12:16:47 PM



EN

23

Step 25
5/32-32x2/5” truss head screws (x2) 5/32” flat washer (x2)

Align the ends of the grease pan holder (22) with the holes in the grease tray (21), then secure with two 5/32” flat washers (F) 
and two 5/32-32x2/5” truss head screws (B). Make sure that the grease pan holder faces the direction shown.

Step 26
Slide the grease tray (21) underneath the grill box, then slide the grease pan (23) into the grease pan holder (22).

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   23PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   23 10/7/2022   12:16:47 PM10/7/2022   12:16:47 PM



EN

24

Step 27
Place the four heat plates (26) on the grill.

Step 28
Place the cooking grates (27) on the grill.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   24PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   24 10/7/2022   12:16:47 PM10/7/2022   12:16:47 PM



EN

25

Step 29
1.	 Place the warming rack (29) in the holes in the grill lid.

2.	 Place the side burner grate (30) on the sideburner.

Step 30
Push the sideburner control knob (25) onto the front of the grill.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   25PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   25 10/7/2022   12:16:48 PM10/7/2022   12:16:48 PM



EN

26

Step 31
Place your propane tank underneath the grill. The bottom of the tank rests on the notches in the bottom right frame support, 
and the lip of the tank is supported by the tank holder bar.

Step 32
Screw the regulator onto the propane tank.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   26PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   26 10/7/2022   12:16:48 PM10/7/2022   12:16:48 PM



EN

27

Feedback and Help
If you need help with your Amazon Basics product, please use the website or number below.

amazon.com/gp/help/customer/contact‑us

Visit www.amazon.com/dp/B0B8QV3MS2 the user manual, troubleshooting  
and more.

+1 877‑485‑0385

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   27PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   27 10/7/2022   12:16:48 PM10/7/2022   12:16:48 PM



FR

28

Contenu de l'emballage.........................................................................................................................................................................................29
Montage du barbecue.............................................................................................................................................................................................33
Rétroaction et assistance.......................................................................................................................................................................................54

Table des matières

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   28PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   28 10/7/2022   12:16:48 PM10/7/2022   12:16:48 PM



FR

29

Contenu de l'emballage

Éléments

Pièce Nom Image Quantité

1 Pied avant gauche 1

2 Pied arrière gauche 1

3 Châssis de support 
inférieur gauche 1

4 Pied avant droit 1

5 Pied arrière droit 1

6 Châssis de support 
inférieur droit 1

7 Châssis de support 
arrière 1

8 Châssis de support 
supérieur gauche 1

9 Châssis de support 
supérieur droit 1

10 Panneaux avant 2

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   29PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   29 10/7/2022   12:16:49 PM10/7/2022   12:16:49 PM



FR

30

Pièce Nom Image Quantité

11 Pieds 2

12 Barre d'exclusion de la 
bonbonne 1

13 Support de la bonbonne 1

14 Caisson du barbecue 1

15 Plateau latéral gauche 1

16 Supports des plateaux 2

17 Support du plateau 
gauche 1

18 Plateau du brûleur 
latéral droit 1

19 Support du plateau droit 1

20 Brûleur latéral 1

21 Plateau de récupération 
de la graisse 1

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   30PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   30 10/7/2022   12:16:50 PM10/7/2022   12:16:50 PM



FR

31

Pièce Nom Image Quantité

22 Support du plateau de 
récupération de graisse 1

23 Plateau de récupération 
de graisse 1

24 Pile AA 1

25 Bouton de réglage du 
brûleur latéral 1

26 Plaques de chauffage 4

27 Grilles de cuisson 2

28 Roulettes 2

29 Grille de chauffage 1

30 Grille du brûleur latéral 1

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   31PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   31 10/7/2022   12:16:50 PM10/7/2022   12:16:50 PM



FR

32

Quincaillerie

Pièce Nom Image Quantité

A
Vis à tête bombée de 

0,6 cm à 50,8 x 1,27 cm 
(1/4 à 20 x 1/2 po)

18

B
Vis à tête bombée de  
0,4 cm à 81,3 x 1 cm 
(5/32 à 32 x 2/5 po)

15

C Rondelles plates de  
0,6 cm (1/4 po) 6

D Rondelles plates de  
0,8 cm (5/16 po) 2

E Écrous de 0,8 cm  
(5/16 po) 2

F Rondelle plate de  
0,4 cm (5/32 po) 2

Outils nécessaires

tournevis à tête cruciforme Clé à molette

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   32PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   32 10/7/2022   12:16:51 PM10/7/2022   12:16:51 PM



FR

33

Montage du barbecue
Étape 1
1.	 Desserrer les huit vis préinstallées sur le pied gauche avant (1), le pied gauche arrière (2), le pied droit avant (4) et le pied 

droit arrière (5).

2.	 Faire glisser les fentes de l'orifice en forme de serrure dans le support de châssis inférieur gauche (3) sur les vis du pied 
gauche avant (1) et du pied gauche arrière (2), puis resserrer les quatre vis.

3.	 Faire glisser les fentes de l'orifice en forme de serrure dans le support de châssis inférieur droit (6) sur les vis du pied droit 
avant (4) et du pied droit arrière (5), puis resserrer les quatre vis.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   33PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   33 10/7/2022   12:16:51 PM10/7/2022   12:16:51 PM



FR

34

Étape 2
1.	 Desserrer les quatre vis préinstallées sur le pied gauche et le pied arrière droit.

2.	 Connecter le pied gauche au pied droit en faisant glisser les fentes de l'orifice en forme de serrure dans le support du châssis 
arrière (7) sur les vis desserrées. S’assurer que les orifices de vis le long du bord du support de châssis arrière sont orientés 
vers le haut, puis serrer les quatre vis.

    

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   34PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   34 10/7/2022   12:16:51 PM10/7/2022   12:16:51 PM



FR

35

Étape 3 
Vis à tête bombée (8) de 0,6 cm à 50,8 x 1,27 cm 
(1/4 à 20 x 1/2 po)

1.	 Fixer le support de châssis supérieur gauche (8) aux pieds gauches à l’aide de quatre vis à tête bombée (A) de 0,6 cm à 50,8 x 
1,27 cm (1/4 à 20 x 1/2 po) 

2.	 Fixer le support de châssis supérieur droit (9) aux pieds droits à l’aide de quatre vis à tête bombée (A) de 0,6 cm à 50,8 x  
1,27 cm (1/4 à 20 x 1/2 po) 

REMARQUE  L'orifice de vis supérieur de chaque support de châssis reste ouvert.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   35PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   35 10/7/2022   12:16:51 PM10/7/2022   12:16:51 PM



FR

36

Étape 4
1.	 Desserrer les huit vis préinstallées sur le pied avant gauche (1) et le pied avant droit (4).

2.	 Faire glisser les deux panneaux avant (10) sur les vis des supports avant, puis resserrer les huit vis.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   36PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   36 10/7/2022   12:16:52 PM10/7/2022   12:16:52 PM



FR

37

Étape 5
Rondelles plates (2) de 0,8 cm (5/16 po) Écrous (2) de 0,8 cm (5/16 po)

Faire glisser les roues (28) sur le bas des pieds droit, insérez une rondelle plate de 0,8 cm (5/16 po) (D) à chaque extrémité, puis 
fixer chaque roue avec un écrou (E) de 0,8 cm (5/16 po). Serrer chaque écrou avec une clé.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   37PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   37 10/7/2022   12:16:52 PM10/7/2022   12:16:52 PM



FR

38

Étape 6
Déployer les pieds (11) sur le dessous des pieds gauche. Les pieds doivent être orientés vers l’avant et l’arrière du barbecue.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   38PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   38 10/7/2022   12:16:52 PM10/7/2022   12:16:52 PM



FR

39

Étape 7 :
Vis à tête bombée de 0,4 cm à 81,3 x 1 cm  
(5/32 à 32 x 2/5 po)

1.	 Insérer l’extrémité de la barre d’exclusion de la bonbonne (12) dans l'orifice situé sur le bord supérieur du panneau avant. 

2.	 Aligner l’autre extrémité de la barre d’exclusion de la bonbonne avec l'orifice dans le support de châssis arrière, puis fixer 
avec une vis à tête bombée de 0,4 cm à 81,3 x 1 cm (5/32 à 32 x 2/5 po) (B).

Étape 8 :
Insérer l’extrémité de la barre d’exclusion de la bonbonne (13) dans l'orifice situé à l'intérieur des pieds droit.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   39PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   39 10/7/2022   12:16:52 PM10/7/2022   12:16:52 PM



FR

40

Étape 9
Retirer les deux vis situées aux angles avant du boîtier du barbecue (14). Ces vis fixent le panneau de commande pendant le 
transport et ne seront plus utilisées.

Étape 10
Avec quelqu'un pour aider, soulevez le boîtier du barbecue (14) sur les supports.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   40PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   40 10/7/2022   12:16:52 PM10/7/2022   12:16:52 PM



FR

41

Étape 11
Vis à tête bombée (4) de 0,6 cm à 50,8 x 1,27 cm 
(1/4 à 20 x 1/2 po)

S'assurer que le boîtier du barbecue est complètement inséré (14) avec quatre vis à tête bombée (A) de 0,6 cm à 50,8 x 1,27 cm 
(1/4 à 20 x 1/2 po)

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   41PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   41 10/7/2022   12:16:53 PM10/7/2022   12:16:53 PM



FR

42

Étape 12
Vis à tête bombée (4) de 0,4 cm à 81,3 x 1 cm 
(5/32 à 32 x 2/5 po)

1.	 Aligner un support de plateau (16) avec le plateau du côté gauche (15) et le couvercle du plateau gauche (17), puis fixer avec 
deux vis à tête bombée de 0,4 cm à 81,3 x 1 cm (5/32 à 32 x 2/5 po) (B). Ne pas serrer complètement.

2.	 Fixer le bord du plateau latéral gauche (15) et le couvercle du plateau gauche (17) avec deux vis de plus à tête bombée (B) 
de 0,4 cm à 81,3 x 1 cm (5/32 à 32 x 2/5 po).

3.	 Serrer les vis complètement.

Étape 13
Desserrer les deux vis supérieures du côté gauche du boîtier du barbecue, puis faire glisser le plateau gauche sur le boîtier du 
barbecue. Les vis du boîtier du barbecue doivent s’insérer dans les fentes en forme de serrure du plateau. 

CÔTÉ GAUCHE

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   42PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   42 10/7/2022   12:16:53 PM10/7/2022   12:16:53 PM



FR

43

Étape 14
Vis à tête bombée (3) de 0,6 cm à 50,8 x 1,27 cm 
(1/4 à 20 x 1/2 po)

Rondelles plates (3) de 0,6 cm (1/4 po)

Fixer le plateau gauche à l’aide de trois rondelles plates (C) de 0,6 cm (1/4 po) et trois vis à tête bombée (A) de 0,6 cm à 50,8 x 
1,27 cm (1/4 à 20 x 1/2 po)

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   43PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   43 10/7/2022   12:16:53 PM10/7/2022   12:16:53 PM



FR

44

Étape 15
Vis à tête bombée (2) de 0,4 cm à 81,3 x 1 cm 
(5/32 à 32 x 2/5 po)

1.	 Vérifier que le plateau est bien inséré dans la fente en forme de serrure, puis serrer les vis qui avaient été desserrées  
« Étape 13 » à la page 42.

2.	 Fixer le couvercle du plateau gauche avec deux vis à tête bombée (B) de 0,4 cm à 81,3 x 1 cm (5/32 à 32 x 2/5 po).

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   44PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   44 10/7/2022   12:16:54 PM10/7/2022   12:16:54 PM



FR

45

Étape 16
Vis à tête bombée (4) de 0,4 cm à 81,3 x 1 cm 
(5/32 à 32 x 2/5 po)

1.	 Aligner un support de plateau (16) avec le plateau du brûleur latéral droit (18) et le couvercle du plateau droit (19), puis fixer 
avec deux vis à tête bombée (B) de 0,4 cm à 81,3 x 1 cm (5/32 à 32 x 2/5 po). Ne pas serrer complètement.

2.	 Fixer le bord du plateau du brûleur latéral droit (18) et le couvercle du plateau droit (19) avec deux vis de plus à tête bombée 
(B) de 0,4 cm à 81,3 x 1 cm (5/32 à 32 x 2/5 po).

3.	 Serrer les vis complètement.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   45PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   45 10/7/2022   12:16:54 PM10/7/2022   12:16:54 PM



FR

46

Étape 17
Desserrer les deux vis supérieures du côté droit du boîtier du barbecue, puis faire glisser le brûleur latéral droit (18) sur le boîtier 
du barbecue. Les vis du boîtier du barbecue doivent s’insérer dans les fentes en forme de serrure du plateau.

Étape 18
Vis à tête bombée (3) de 0,6 cm à 50,8 x 1,27 cm 
(1/4 à 20 x 1/2 po)

Rondelles plates (3) de 0,6 cm (1/4 po)

Fixer le brûleur latéral droit (18) à l’aide de trois rondelles plates (C) de 0,8 cm (1/4 po) et trois vis à tête bombée (A) de 0,6 cm 
à 50,8 x 1,27 cm (1/4 à 20 x 1/2 po)

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   46PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   46 10/7/2022   12:16:54 PM10/7/2022   12:16:54 PM



FR

47

Étape 19
Vis à tête bombée (2) de 0,4 cm à 81,3 x 1 cm 
(5/32 à 32 x 2/5 po)

1.	 Vérifier que le brûleur latéral est bien inséré dans la fente en forme de serrure, puis resserrer les vis qui avaient été 
desserrées « Étape 17 » à la page 46.

2.	 Fixer le couvercle du plateau droit avec deux vis à tête bombée (B) de 0,4 cm à 81,3 x 1 cm (5/32 à 32 x 2/5 po).

Étape 20
1.	 Desserrer les deux vis de la commande du brûleur latéral. Ne pas retirer les vis.

2.	 Placer le clapet du brûleur latéral dans l'orifice du couvercle du plateau du brûleur latéral droit, puis le faire glisser vers le 
bas pour le verrouiller dans son emplacement.

3.	 Resserrer les deux vis de la commande du brûleur latéral.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   47PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   47 10/7/2022   12:16:55 PM10/7/2022   12:16:55 PM



FR

48

Étape 21
Retirer les deux vis du brûleur latéral (20).

Étape 22
Aligner le tuyau du brûleur latéral avec la buse derrière le couvercle du brûleur latéral droit, puis fixer le brûleur avec les deux vis 
précédemment retirées.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   48PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   48 10/7/2022   12:16:55 PM10/7/2022   12:16:55 PM



FR

49

Étape 23
Dévisser le bouton d’allumage du boîtier de la grille.

Étape 24
Insérer la pile AA (24) avec le signe + orienté vers l'extérieur. Replacer l'écrou, puis visser de nouveau le bouton d’allumage.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   49PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   49 10/7/2022   12:16:55 PM10/7/2022   12:16:55 PM



FR

50

Étape 25
Vis à tête bombée (2) de 0,4 cm à 81,3 x 1 cm 
(5/32 à 32 x 2/5 po)

Rondelles plates (2) de 0,8 cm (5/32 po)

Aligner les extrémités du support du plateau de récupération des graisses (22) avec les orifices du plateau de récupération de la 
graisse (21), puis fixer avec deux rondelles plates (F) de 0,4 cm (5/32 po) et deux vis à tête bombée (B) de 0,4 cm à 81,3 x 1 cm 
(5/32 à 32 x 2/5 po). Vérifier que le support du plateau de récupération de la graisse est orienté dans la direction indiquée.

Étape 26
Faire glisser le plateau de récupération de la graisse (21) sous le boîtier du barbecue, puis faire glisser le plateau de récupération 
de la graisse (23) dans le support du plateau (22).

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   50PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   50 10/7/2022   12:16:55 PM10/7/2022   12:16:55 PM



FR

51

Étape 27
Placer les quatre plaques de chauffage (26) sur le barbecue.

Étape 28
Placer les grilles de cuisson (27) sur le barbecue.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   51PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   51 10/7/2022   12:16:55 PM10/7/2022   12:16:55 PM



FR

52

Étape 29
1.	 Placer la grille de maintien au chaud (29) dans les orifices du couvercle du barbecue.

2.	 Placer la grille du brûleur latéral (30) sur le brûleur latéral.

Étape 30
Pousser les deux boutons de commande du brûleur latéral (25) sur l'avant du barbecue.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   52PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   52 10/7/2022   12:16:55 PM10/7/2022   12:16:55 PM



FR

53

Étape 31
Placer la bonbonne de gaz propane liquéfié sous le barbecue. Le fond de la bonbonne repose sur les encoches du support de 
châssis inférieur droit, et le rebord de la bonbonne est soutenu par la barre de support de la bonbonne.

Étape 32
Visser le régulateur sur la bonbonne de gaz propane liquéfié.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   53PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   53 10/7/2022   12:16:56 PM10/7/2022   12:16:56 PM



FR

54

Rétroaction et assistance
En cas de besoin d’aide pour un produit de la marque Basics d'Amazon, se référer au site Web ou au numéro de téléphone  
ci-dessous.

amazon.com/gp/help/customer/contact‑us

Aller sur le site www.amazon.com/dp/B0B8QV3MS2 pour le manuel de l'utilisateur, les problèmes et solutions,  
entre autres.

1 877 485-0385

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   54PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   54 10/7/2022   12:16:56 PM10/7/2022   12:16:56 PM



ES

55

Contenido del paquete...........................................................................................................................................................................................56
Montaje de la barbacoa..........................................................................................................................................................................................60
Comentarios y ayuda..............................................................................................................................................................................................81

Contenido

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   55PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   55 10/7/2022   12:16:56 PM10/7/2022   12:16:56 PM



ES

56

Contenido del paquete

Piezas

Pieza Nombre Imagen Cantidad

1 Pata frontal izquierda 1

2 Pata trasera izquierda 1

3 Soporte inferior 
izquierdo del marco 1

4 Pata frontal derecha 1

5 Pata trasera derecha 1

6 Soporte inferior derecho 
del marco 1

7 Soporte trasero del 
marco 1

8 Soporte superior 
izquierdo del marco 1

9 Soporte superior 
derecho del marco 1

10 Paneles frontales 2

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   56PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   56 10/7/2022   12:16:57 PM10/7/2022   12:16:57 PM



ES

57

Pieza Nombre Imagen Cantidad

11 Pies 2

12 Barra de exclusión del 
tanque 1

13 Barra de sujeción del 
tanque 1

14 Cámara de fuego de la 
barbacoa 1

15 Panel lateral izquierdo 1

16 Soporte para paneles 2

17 Cubierta del panel 
izquierdo 1

18 Panel del quemador 
lateral derecho 1

19 Cubierta del panel 
derecho 1

20 Quemador lateral 1

21 Bandeja de grasa 1

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   57PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   57 10/7/2022   12:16:58 PM10/7/2022   12:16:58 PM



ES

58

Pieza Nombre Imagen Cantidad

22 Soporte de la bandeja 
de grasa 1

23 Bandeja de grasa 1

24 Pila AA 1

25 Perilla de control del 
quemador lateral 1

26 Placas de calefacción 4

27 Rejillas de cocción 2

28 Ruedas 2

29 Rejilla de calentamiento 1

30 Rejilla del quemador 
lateral 1

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   58PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   58 10/7/2022   12:16:58 PM10/7/2022   12:16:58 PM



ES

59

Ferretería

Pieza Nombre Imagen Cantidad

A
Tornillos de cabeza de 

cercha de 1/4 - 20  
x 1/2 in

18

B
Tornillos de cabeza  

de cercha de  
5/32-32 x 2/5 in

15

C Arandelas planas de 
1/4 in 6

D Arandelas planas de 
5/16 in 2

E Tuercas de 5/16 in 2

F Arandela plana de  
5/32 in 2

Herramientas requeridas

Destornillador Phillips Llave ajustable

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   59PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   59 10/7/2022   12:16:59 PM10/7/2022   12:16:59 PM



ES

60

Montaje de la barbacoa
Paso 1
1.	 Afloje los ocho tornillos preinstalados en la pata frontal izquierda (1), la pata trasera izquierda (2), la pata frontal derecha (4) 

y la pata trasera derecha (5).

2.	 Deslice las ranuras en forma de cerradura del soporte inferior izquierdo del marco (3) en los tornillos de la pata frontal 
izquierda (1) y de la pata trasera izquierda (2), y vuelva a apretar los cuatro tornillos.

3.	 Deslice las ranuras en forma de cerradura del soporte inferior derecho del marco (6) en los tornillos de la pata frontal 
derecha (4) y de la pata trasera derecha (5), y vuelva a apretar los cuatro tornillos.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   60PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   60 10/7/2022   12:16:59 PM10/7/2022   12:16:59 PM



ES

61

Paso 2
1.	 Afloje los cuatro tornillos preinstalados en el conjunto de la pata izquierda y la pata derecha.

2.	 Conecte el conjunto de la pata izquierda con el conjunto de la pata derecha deslizando las ranuras de la cerradura del 
soporte trasero del marco (7) en los tornillos que aflojó. Asegúrese de que los agujeros de los tornillos a lo largo del borde 
del soporte trasero del marco estén orientados hacia arriba, y luego apriete los cuatro tornillos.

    

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   61PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   61 10/7/2022   12:16:59 PM10/7/2022   12:16:59 PM



ES

62

Paso 3
Tornillos de cabeza de cercha de 1/4-20 x 1/2 in 
(x8)

1.	 Fije el soporte superior izquierdo del marco (8) a las patas izquierdas con cuatro tornillos de cabeza de cercha de 1/4-20 x 
1/2 in (A). 

2.	 Fije el soporte superior derecho del marco (9) a las patas derechas con cuatro tornillos de cabeza de cercha de 1/4-20 x  
1/2 in (A). 

AVISO  El agujero del tornillo superior en cada soporte del marco permanecerá abierto.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   62PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   62 10/7/2022   12:16:59 PM10/7/2022   12:16:59 PM



ES

63

Paso 4
1.	 Afloje los ocho tornillos preinstalados en la pata delantera izquierda (1) y en la pata delantera derecha (4).

2.	 Deslice los dos paneles frontales (10) sobre los tornillos de los soportes frontales y vuelva a apretar los ocho tornillos.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   63PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   63 10/7/2022   12:16:59 PM10/7/2022   12:16:59 PM



ES

64

Paso 5
Arandelas planas de 5/16 in (x2) Tuercas de 5/16 in (x2)

Deslice las ruedas (28) en la parte inferior de las patas derechas, inserte una arandela plana de 5/16 in (D) en cada extremo, 
luego asegure cada rueda con una tuerca de 5/16 in (E). Apriete cada tuerca con una llave.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   64PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   64 10/7/2022   12:16:59 PM10/7/2022   12:16:59 PM



ES

65

Paso 6
Empuje los pies (11) en la parte inferior de las patas izquierdas. Las pies deben apuntar hacia fuera, hacia la parte delantera y 
trasera de la barbacoa.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   65PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   65 10/7/2022   12:16:59 PM10/7/2022   12:16:59 PM



ES

66

Paso 7
Tornillo de cabeza de cercha de 5/32-32 x 2/5 in 
(x1)

1.	 Introduzca el extremo de la barra de exclusión del depósito (12) en el agujero del borde superior del panel frontal. 

2.	 Alinee el otro extremo de la barra de exclusión del tanque con el orificio del soporte trasero del marco, y luego fíjelo con un 
tornillo de cabeza de cercha de 5/32-32 x 2/5 in (B).

Paso 8
Introduzca los extremos de la barra de sujeción del tanque (13) en los orificios de la parte interior de las patas derechas.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   66PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   66 10/7/2022   12:17:00 PM10/7/2022   12:17:00 PM



ES

67

Paso 9
Retire los dos tornillos de las esquinas delanteras de la cámara de fuego de la barbacoa (14). Estos tornillos aseguraron el panel 
de control durante el transporte y no se volverán a utilizar.

Paso 10
Con un compañero, levante la cámara de fuego de la barbacoa (14) sobre los soportes.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   67PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   67 10/7/2022   12:17:00 PM10/7/2022   12:17:00 PM



ES

68

Paso 11
Tornillos de cabeza de cercha de 1/4-20 x 1/2 in 
(4)

Asegúrese de que la cámara de fuego de la barbacoa está completamente asentada y, a continuación, fije la cámara de fuego de 
la barbacoa (14) con cuatro tornillos de cabeza de cercha de 1/4-20 x 1/2 in (A).

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   68PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   68 10/7/2022   12:17:00 PM10/7/2022   12:17:00 PM



ES

69

Paso 12
Tornillos de cabeza de cercha de 5/32-32 x 2/5 in 
(x4)

1.	 Alinee un soporte de panel (16) con el panel lateral izquierdo (15) y la cubierta del panel izquierdo (17), luego asegúrelo con 
dos tornillos de cabeza de cercha de 5/32-32 x 2/5 in (B). No apriete demasiado.

2.	 Fije el borde del panel lateral izquierdo (15) y la cubierta del panel izquierdo (17) con otros dos tornillos de cabeza de cercha 
de 5/32-32 x 2/5 in (B).

3.	 Apriete bien los tornillos.

Paso 13
Afloje los dos tornillos superiores del lado izquierdo de la cámara de fuego de la barbacoa, luego deslice el conjunto del panel 
izquierdo sobre la cámara de fuego de la barbacoa. Los tornillos de la cámara de fuego de la barbacoa deben encajar en las 
ranuras del panel. 

LADO IZQUIERDO

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   69PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   69 10/7/2022   12:17:00 PM10/7/2022   12:17:00 PM



ES

70

Paso 14
Tornillos de cabeza de cercha de 1/4-20 x 1/2 in 
(x3)

Arandelas planas de 1/4 in (x3)

Fije el conjunto del panel izquierdo con tres arandelas planas de 1/4 in (C) y tres tornillos de cabeza de cercha de 1/4-20 x 1/2 in 
(A).

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   70PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   70 10/7/2022   12:17:00 PM10/7/2022   12:17:00 PM



ES

71

Paso 15
Tornillos de cabeza de cercha de 5/32-32 x 2/5 in 
(x2)

1.	 Asegúrese de que el conjunto del panel está completamente colocado en la ranura del agujero de la cerradura, y luego 
vuelva a apretar los tornillos que aflojó “Paso 13” en la página 69.

2.	 Fije la cubierta del panel izquierdo con dos tornillos de cabeza de cercha de 5/32-32 x 2/5 in (B).

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   71PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   71 10/7/2022   12:17:01 PM10/7/2022   12:17:01 PM



ES

72

Paso 16
Tornillos de cabeza de cercha de 5/32-32 x 2/5 in 
(x4)

1.	 Alinee un soporte de panel (16) con el panel del quemador lateral derecho (18) y la cubierta del panel derecho (19), y luego 
fíjelo con dos tornillos de cabeza de cercha de 5/32-32 x 2/5 in (B). No apriete demasiado.

2.	 Fije el borde del panel lateral derecho (18) y la cubierta del panel derecho (19) con otros dos tornillos de cabeza de cercha 
de 5/32-32 x 2/5 in (B).

3.	 Apriete bien los tornillos.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   72PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   72 10/7/2022   12:17:01 PM10/7/2022   12:17:01 PM



ES

73

Paso 17
Afloje los dos tornillos superiores del lado derecho de la cámara de fuego de la barbacoa y deslice el conjunto del quemador 
lateral derecho (18) sobre la cámara de fuego de la barbacoa. Los tornillos de la cámara de fuego de la barbacoa deben encajar 
en las ranuras del panel. 

Paso 18
Tornillos de cabeza de cercha de 1/4-20 x 1/2 in 
(x3)

Arandelas planas de 1/4 in (x3)

Fije el conjunto del quemador lateral derecho (18) con tres arandelas planas de 1/4 in (C) y tres tornillos de cabeza de cercha de 
1/4-20 x 1/2 in (A).

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   73PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   73 10/7/2022   12:17:01 PM10/7/2022   12:17:01 PM



ES

74

Paso 19
Tornillos de cabeza de cercha de 5/32-32 x 2/5 in 
(x2)

1.	 Asegúrese de que el conjunto del quemador lateral está completamente asentado en la ranura de la cerradura y, a 
continuación, vuelva a apretar los tornillos que aflojó “Paso 17” en la página 73.

2.	 Fije la cubierta del panel derecho con dos tornillos de cabeza de cercha de 5/32-32 x 2/5 in (B).

Paso 20
1.	 Afloje los dos tornillos de control del quemador lateral. No retire los tornillos.

2.	 Coloque la válvula del quemador lateral en el agujero de la cubierta del panel del quemador lateral derecho, y luego 
deslícela hacia abajo para que quede bloqueada.

3.	 Vuelva a apretar los dos tornillos de control del quemador lateral.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   74PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   74 10/7/2022   12:17:02 PM10/7/2022   12:17:02 PM



ES

75

Paso 21
Retire los dos tornillos del quemador lateral (20).

Paso 22
Alinee el tubo del quemador lateral con la boquilla que se encuentra detrás de la tapa del quemador lateral derecho y, a 
continuación, fije el quemador con los dos tornillos que retiró anteriormente.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   75PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   75 10/7/2022   12:17:02 PM10/7/2022   12:17:02 PM



ES

76

Paso 23
Desenrosque el botón de encendido de la cámara de fuego de la barbacoa.

Paso 24
Introduzca la pila AA (24) con el lado + hacia fuera. Vuelva a colocar la tuerca y luego atornille el botón de encendido.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   76PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   76 10/7/2022   12:17:02 PM10/7/2022   12:17:02 PM



ES

77

Paso 25
Tornillos de cabeza de cercha de 5/32-32 x 2/5 in 
(x2)

Arandela plana de 5/32 in (x2)

Alinee los extremos del soporte de la bandeja de grasa (22) con los orificios de la bandeja de grasa (21), luego asegúrelos con 
dos arandelas planas de 5/32 in (F) y dos tornillos de cabeza de cercha de 5/32-32 x 2/5 in (B). Asegúrese de que el soporte de 
la bandeja de grasa esté orientado en la dirección indicada.

Paso 26
Deslice la bandeja de grasa (21) por debajo de la cámara de fuego de la barbacoa y, a continuación, deslice la bandeja de grasa 
(23) en el soporte de la bandeja de grasa (22).

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   77PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   77 10/7/2022   12:17:02 PM10/7/2022   12:17:02 PM



ES

78

Paso 27
Coloque las cuatro placas de calefacción (26) en la barbacoa.

Paso 28
Coloque las rejillas de cocción (27) en la barbacoa.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   78PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   78 10/7/2022   12:17:02 PM10/7/2022   12:17:02 PM



ES

79

Paso 29
1.	 Coloque la rejilla de calentamiento (29) en los agujeros de la tapa de la barbacoa.

2.	 Coloque la rejilla del quemador lateral (30) en el quemador lateral.

Paso 30
Empuje la perilla de control del quemador lateral (25) en la parte delantera de la barbacoa.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   79PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   79 10/7/2022   12:17:03 PM10/7/2022   12:17:03 PM



ES

80

Paso 31
Coloque el tanque de propano debajo de la barbacoa. La parte inferior del tanque se apoya en las muescas del soporte inferior 
derecho del marco, y el labio del tanque se apoya en la barra de soporte del tanque.

Paso 32
Enrosque el regulador en el tanque de propano.

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   80PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   80 10/7/2022   12:17:03 PM10/7/2022   12:17:03 PM



ES

81

Comentarios y ayuda
Si necesita ayuda con su producto de Amazon Basics, utilice el sitio web o el número a continuación.

amazon.com/gp/help/customer/contact-us

Visite www.amazon.com/dp/B0B8QV3MS2 para acceder al manual del usuario, solución de problemas  
y más.

+1 877‑485‑0385

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   81PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   81 10/7/2022   12:17:03 PM10/7/2022   12:17:03 PM



PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   82PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   82 10/7/2022   12:17:03 PM10/7/2022   12:17:03 PM



PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   83PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   83 10/7/2022   12:17:03 PM10/7/2022   12:17:03 PM



MADE IN CHINA

FABRIQUÉ EN CHINE

HECHO EN CHINA

V01-10/22

amazon.com/AmazonBasics

PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   84PR-KMY0YMPZVX_B0B8QV3MS2_4 burner Gas Grill_Assembly Man_V1_BK1.indb   84 10/7/2022   12:17:03 PM10/7/2022   12:17:03 PM


